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Sl. No.1
QBID:1555041

Choose the correct form of verb to fill m the blank :

Risks come from not what you are doing ?

(1) have known
(2) known

(3) knowing

(4) know

o & ¥ e aof s =i 8 2
(1) T

(2) 4

3) ¥

4) H

1[Option ID=31201]
2[Option ID=31202]

3[Option ID=31203]
4[Option ID=31204]

Sl. No.2
QBID:1555042

Choose the appropriate preposition to complete the sentence :

Her request for a transfer was turned
(1) up

(2) for

(3) down

(4) through

R Rrme
FUA ] ; 910 Y9 B1 0 SFE & ol fhdl HIT a1 o &1 soed $aT B |
FUTI] : T & He diF MuRl R fFUEH & - T & YR R, Weg & YR W Ty 3 & 19 01 |

TRIed FYA F S H, A9 61 T4 el § 3§ 999 390ad 9oR &1 994 S
(1) ®Y=I R I | §

(2) By AR I EHf Toa &

(3) T 1 W8 B A = I o &

(4) BYA [ 79 B, afFa o 1 98 2

1[Option ID=31245]
2[Option ID=31246]
3[Option ID=31247]
4[Option ID=31248]

Sl. No.3
QBID:1555043

Pick out the correctly spelt word.
(1) mmpromptu

(2) inprounptn

(3) mpromputue

(4) mproptune

SE0l® @1 fauH Sdsy |

1) TEw




(2) =
(3) W&

(4) =T

1[Option ID=31273]
2[Option ID=31274]
3[Option ID=31275]
4[Option ID=31276]

Sl. No.4
QBID:1555044

Identify the correct indirect speech of the following sentence.

He said to me. "I don't believe you"

(1) He said that he doesn't believe me

(2) He told me that he didn't believe me.
(3) He told me that he didn't believed me.
(4) He told me that he didn't believe him |

ot ddsra e i S R I ge 2
(1) =g

(2) =g

(3) ST

(4) =i

1[Option ID=31277]

2[Option ID=31278]

3[Option ID=31279]
4[Option ID=31280]

Sl. No.5
QBID:1555045

Rearrange the following parts of a sentence labelled PQRS to make a meaningful sentence.
P. overflow of powerful

Q. recollected in spontaneous

R. Poetry is a spontaneous

S. feelings - emotions
(1) QSRP

(2) RPSQ

(3) QSPR

(4) SQRP

S BT FAFR B T T3 § ?
1) fEamw

(2) dm

(3) @<

4

1[Option ID=31281]
2[Option ID=31282]

3[Option ID=31283]
4[Option ID=31284]

Sl. No.6
QBID:1555046

Pick out the antonym of 'strength’

(1) meekness

(2) revenge

(3) frailty

(4) e=nergy

i 3HfEf F WA B F1 UF Wes B W 6 7
(1) HHAE

(2) Ty




(3) uE
(4) w&q

1[Option ID=31285]
2[Option ID=31286]
3[Option ID=31287]
4[Option ID=31288]

Sl. No.7
QBID:1555047

Choose the correct sentence.

(1) He had not left, we would have been forced to evict him
(2) Hadn't he left we would have been forced to evict him.
(3) Had he not left, we would have been forced to eviet him

(4) He not had left. we would have been forced to eviet lum.
et W FEET HETal &1 el o FE W E 2

(1) EE &

(2) TR &3

3) EmH FT

(4) =9 HE

1[Option ID=31289]

2[Option ID=31290]

3[Option ID=31291]
4[Option ID=31292]

Sl. No.8
QBID:1555048

Choose the correct passive voice form of the following sentence.

He may have eaten the cake.

(1) The cake might have been eaten by them.
(2) The cake may have been eaten by him.
(3) He had eaten the cake.

(4) The cake might have been eaten by him.
it § 9 ws awg &1 957 Fifew |

(1) =i § By 59 B |

(2) == WY AT 1 |

(3) == | 8 B H |

(4) =i | By 6l B |

1[Option ID=31293]
2[Option ID=31294]
3[Option ID=31295]
4[Option ID=31296]

Sl. No.9
QBID:1555049

Pick out the synonym of the following word - 'captivating’.
(1) disappointing

(2) frightening

(3) fascinating

(4) frank

s & aeH o 76 2 |

(1) ==

(2) ¥g%

(3) Ew

(4) feR

1[Option ID=31297]
2[Option ID=31298]
3[Option ID=31299]
4[Option ID=31300]

Sl. No.10




QBID:15550410
Identify the part of speech of the underlined word in the following sentence.

Let us even the ground.

(1) Verb

(2) Adverb

(3) Noun

(4) Adjective

T S e S ST T TR B |

(1) & & ot i &1 vam Sanet & 9= e g |
(2) fodmul & Wiy 39 F &7, 797 IMFRF a0 ¢ |
(3) fasdmmit % ey ar 45 frr M # |

(4) TS fagmu & &1 e § - 99 IR 9f |
1[Option ID=31205]

2[Option ID=31206]

3[Option ID=31207]
4[Option ID=31208]

Sl. No.11
QBID:15550411

Who has been appomted as the new chief economic advisor (CEA) to the Government of India ?
(1) V Anantha Nageswaran

(2) Arun Kumar Singh

(3) Vijay Sharma

(4) Kartik Sen Gupta

S8 9 B YR WPR & AU 7 A5 FagPR (H30) F 9§ Fgad gu e ?
(1) @ eFT TEERA

(2) R0 FARME

(3) fawg =mf

(4) @iidas S

1[Option ID=31209]

2[Option ID=31210]

3[Option ID=31211]
4[Option ID=31212]

Sl. No.12
QBID:15550412

Which of the following companies are among the recently created 7 new Defence Public Sector Undertaking Companies., which were
created through restructuring of OFB (Ordiance Factory Board) ?

A. Weapons India Limited
B. Mumitions Indian Limited
C. Yantra India Limited

D. Gliders India Limited

Choose the correct answer from the options given below :
(1) A.B and D only

(2) CandD only

(3) A, CandD only

(4) B. C and D only

FofeiEa $=-0 Sutg J ga & 7 70 adeE e 30 Ut vt @1 & 5 smgy i 918 9t grefe 9 F mam @ wifta e
ur?

A. 98 gfEa fafes

B. &= fw givsa s

C. 73 3 fafies

D. wEsH sfeal fafes

4 fau T ot § ¥ 999 SO SR © 90 S




(1) FEAA, B RD
(2) HgaC R D

(3) FTWA, C 3R D
(4) B, C WD

1[Option ID=31213]
2[Option ID=31214]
3[Option ID=31215]
4[Option ID=31216]

Sl. No.13
QBID:15550413

Name of the autobiography of Kamala Das is :
(1) My Story

(2) ListenI Tell You

(3) Wings of Fire

(4) Autobiography of an Unknown Indian
HHA ST B HSYT BT A9 &

(1) 715 =

(2) =g 2ay

(3) & 3% B

(4) SHEETEEE s e 3fEa

1[Option ID=31217]

2[Option ID=31218]

3[Option ID=31219]
4[Option ID=31220]

Sl. No.14
QBID:15550414

A small organ at the base of the brain that produces substances that affect growth and sexual development (hormones) s called :
(1) Pituitary Gland

(2) Hypothalamus

(3) Pineal gland

(4) Adrenals
AfSTS & R # fd U6 oY 27 59 IR & 95 B 30d $Xdl ¢ ol gANl giG &R aRs ffem @m) &1 wuifid 3 ¢, 98 7 sraar g

A. Tyegelt #ff
B. sraOmidaAd
C. difoa Tiy
D. tgHa

19 3T Y [feedi # ¥ 999 S9gad 9T &1 994 B
(1) FIAA, B R D

(2) FEAA AR C

(3) FTA A, B 3R D

(4) Hga A dRD

1[Option ID=31221]
2[Option ID=31222]
3[Option ID=31223]
4[Option ID=31224]

Sl. No.15
QBID:15550415

Who among the following is the first woman to receive two Nobel Prizes ?

(1) Marie Curie

(2) Andrea Ghez

(3) Donna Strickland

(4) Maria Goeppert Mayer

Froffaa 7 4 & 55 R ik B3 ardll vy ata s E 2
(1) & =gl




(2) uftzaraw
(3) == f&s ds
(4) #rfan T daw

1[Option ID=31225]
2[Option ID=31226]
3[Option ID=31227]
4[Option ID=31228]

Sl. No.16
QBID:15550416

In a certain code language

"uo ja ka hu" means "we great Indian country’,
"o1 ka la ju" means 'we score good highest'.

"la fu ja ju" means "India score the highest”

and "ju uo na fu" means "highest of the country”.

Then what is the code of "great” in this code language ?
(1) uo

(2) ka

(3) ja

(4) hu

% [OuY e v |

"uo ja ka hu" #1 37 2 'we great Indian country'.
"oi ka la ju" ®T 3 2 "we score good highest',

"la fu ja ju" #1 21 § "India score the highest"

3R "ju uo na fu" 1 3 ¢ "highest of the country".

?ﬁﬁﬁf*ﬁmﬁ"gl‘cat"ﬁﬁﬂ%?
(1) uo
(2) ka
(3) ja
(4) hu

1[Option ID=31229]
2[Option ID=31230]
3[Option ID=31231]
4[Option ID=31232]

Sl. No.17
QBID:15550417

If "A@B" means A is the mother of B
"A#B" means A is the father of B

"A # B" means A is the son of B

How is X related to Z from the given equation ?

X F X F Z
(1) Xis the grandson of Z.
(2) Z is the grandson of X.

(3) Z is the father of X.
(4) Z is the mother of X




e "A@B" TR fF A BHI AT
"AFR wTef e F A BT

"Az B'FREFABFER

g m T e EF M R WX S Z T TEYE?

Xz Yz Z

(1) X, ZHUarg |
(2) ZX®H g |
(3) Z.X@m g
(4) Z XS AT |

1[Option ID=31233]
2[Option ID=31234]
3[Option ID=31235]
4[Option ID=31236]

Sl. No.18
QBID:15550418

Global Hunger Index is released by which of the following organizations ?
(1) World Health organisation

(2) Concern Worldwide & Wealthungerhilfe

(3) Food and Agriculture organisation

(4) World Food Programme

frafafEa # @ 9med g 3 yaal gEeie ot fea aran ¢ 2

(1) fay wreg e

(2) &5 TaEs TS TRETR TRE

(3) T TE FE HTo

(4) foy @r SEwHA

1[Option ID=31237]
2[Option ID=31238]
3[Option ID=31239]
4[Option ID=31240]

Sl. No.19
QBID:15550419

Seven dance students- T, U, V, W, X, Y and Z - are to give a performance, and the judges have to decide the sequence m which they
will perform. Each student will perform exactly one item. a solo ballet. In deciding the order of performance, the instructor must observe

the following restrictions :

1. X cannot perform first or second.

2. W cannot perform until X has performed.

3. Neither T nor Y can perform seventh.

4. Either Y or Z must perform immediately after W.

5. V must perform either immediately after or immediately before U.

If U performs third, what is the latest position m which Y can perform ?
(1) Fifth

(2) Sixth

(3) Seventh

(4) Fourth




s aeE-T.U.VW. X YIRZ -3 & Jarga At R Armsi s gt sm i e o s d g &  mwem =t
3t wefd & © - UF UEw a0 & =94 | v 1 w4 uifa s s e s Py aidei @ oo s e § -

. X Ugd 91 g5 HH TR IR T8 § Sl |

X F oo o ¥ uset W Rgfol e § S |
ATNTIRIAVY I PAR TSI & TF0 & |

. W& Qa9 Y O1 Z & Ugd &A1 gRi |

.U % g3 950 1 Q30 91§ # V &1 T 31 9oy |

Wy - afg U e &0 R wgfa &a1 & o Y iuan &9 wRgfa & 9ears ?
(1) ofed

(2) wad

(3) =md

(4) =r

1[Option ID=31241]

2[Option ID=31242]

3[Option ID=31243]
4[Option ID=31244]

L R

Sl. No.20
QBID:15550420

A country has seven major cities - A, B, C, D. E. F and G. Three flights labeled X, Y and Z are available to connect the cities following
the rules :

Flight X has its ends at A and C, and passes through B only.
Flight Y has its ends at B and C, and passes through D only.
Flight Z has its ends at E and G, and passes through F only,
Directly connected cities are those cities between which there is no other city to land any flight.

Which of the following city is directly connected to the most other cities 7

1) A

(2) C

(3) B

(4) D

W?EQT;WHH@W%-A. B.C.D.E.FR G ffd fod s T s @i S Tl &l e Aol s R A g 3sH X, Y. Z
EENCCR-H

FEE X, A IR C F1 Fisdl § 3R Faa B & g1 o ¢ |
TERYSHFRBARCRE AR T8 Faa D ¥ §2 ToRdl & |
TEAZFRE IR GWE IR T% Fa0 F § 591 okl ¢ |

T Tl &1 G ST gon ek A O W51 § fome ofe F SoW @ Sov & T 315 SR T TE §

PotfEa A i s TR s R I I Y TR RS & -
1 A

2 C

3 B

(4) D

1[Option ID=31249]

2[Option ID=31250]

3[Option ID=31251]
4[Option ID=31252]

Sl. No.21
QBID:15550421

In how many different ways can the letters of the word AUCTION be arranged in such a way that the vowels always come together ?
(1) 676
(2) 476
(3) 578




(4) 576

AUCTION ez % quil 31 feal veR 4 sqafud fisar of wedl &, o & @ 9eg us @y i 9
(1) 676

(2) 476

(3) 578

(4) 576

1[Option ID=31253]

2[Option ID=31254]

3[Option ID=31255]
4[Option ID=31256]

Sl. No.22
QBID:15550422

The surface area of a cube is 1734 5.q. cm. Then volume of cube is...
(1) 289 cm?

(2) 4913 em?

(3) 4931 em?

(4) 4319 cm?

U 99 &1 g 45% 1734 & 991 ¢ d 99 &1 e e g 2

(1) 289 ¢m?

(2) 4913 cm?

(3) 4931 cm?

(4) 4319 cm?

1[Option ID=31257]
2[Option ID=31258]
3[Option ID=31259]
4[Option ID=31260]

Sl. No.23
QBID:15550423
If v+ 1 .then _>53+y2
I
(1) —E
4
(2) —i
5
3) E
4
(4) i
5
ofg x 1 @ +y? Feamdm?
y 3 2-y
(1) —E
4
(2) —i
5
(3) E
4
4) 5
=)

1[Option ID=31261]
2[Option ID=31262]
3[Option ID=31263]
4[Option ID=31264]

Sl. No.24
QBID:15550424

How much time will it take for an amount of F 4.5% to yield F 81 of interest at 4.5 % per annum of simple interest ?
(1) 4 years
(2) 5 years




(3) 3 years

(4) 6 years

F 450 F i F R 4.5% viaad TR e S X I W S FOH F §1 W 3 H o wHg w2
1) 4od

(2) 5od

(3 3ad

(4) 6of

1[Option ID=31265]
2[Option ID=31266]
3[Option ID=31267]
4[Option ID=31268]

Sl. No.25
QBID:15550425

The average of 7 consecutive numbers is 20. Then sum of smallest and greatest number is
(1) 23

(2) 17

(3) 40

(4) 30

7 SHHFT SEE @1 SiEd 20 & o 999 21E1 Ud §99 951 SO &1 i fBaen g 2
(1) 23

(2) 17

(3) 40

(4) 30

1[Option ID=31269]

2[Option ID=31270]

3[Option ID=31271]
4[Option ID=31272]

Sl. No.26
QBID:1434761

Given below are two statements:
Statement I : The kinetic energy associated with the moving air is utilized to convert into electrical energy.
Statement IT : Wind Energy is the form of conventional energy.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement IT are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement I is correct but Statement IT is incorrect.
(4) Statement I is incorrect but Statement IT is correct.

CIECAIE At S
®YF 1 : G B T FHoll BT FaT faggd ol & sga R [Far o g |
HYII : I Holl. [P URARS SHoll PIIBR G |

JRIGd BYH & AdIP 4, Aid [T U fawedi § 9 9gl 3R &1 904 DI
(1) FFIAR IS TT

() HYFI AR 1 SHT ST &

(3) HYT 1T ©. A YT 1 3 B

(4) Y T, AP P I T

1[Option ID=30901]
2[Option ID=30902]
3[Option ID=30903]
4[Option ID=30904]

Sl. No.27
QBID:1434762




When two wires of different metals are twisted together and heat applied to the junction, an emf is produced. This effect is used in
thermocouple to measure

(1) Electro motive force (e.m.f)

(2) Temperature

(3) Expansion

(4) Heat

o T ergsil & <1 aR 3o E arafdd g SR SR (SleRE) IR S (311) 1 Wad faa SirdT § O9 fdegd 9 99 S d
BId1 § | SH YUTd &1 a9 dggd g | FHifed fesd a1a= & Sugi giarg 2

(1) WWW(&IRI‘)

(2) dIyHH

3) fa%IRT (WER)

(4) JtH]

1[Option ID=30945]
2[Option ID=30946]
3[Option ID=30947]
4[Option ID=30948]

Sl. No.28
QBID:1434763

The generation of thermo e.m.f. in a thermocouple is due to:
(1) Seebeck effect

(2) Peltier effect

(3) Thomson effect

(4) Kelvin effect

ferft arg & yEl-Sunue 3 Wi Fafaiea & sRued &

1) P uyE
(2) ufecgr guId
(3) [HHH yyE
(4) Picad yyId

1[Option ID=30989]
2[Option ID=30990]
3[Option ID=30991]
4[Option ID=30992]

Sl. No.29
QBID:1434764

Secondary breakdown phenomena oceurs in:
(1) MOSFET

(2) IGBT

(3) GTO

(4) BIT

fadia® vom uRee Fafafea & 3 feud Saa sidi g 2
1) A THUB 5

(2) 3Tg oft & el

(3) oIt

) §Wel

1[Option ID=31033]
2[Option ID=31034]
3[Option ID=31035]
4[Option ID=31036]

Sl. No.30
QBID:1434765

Biogas plants are suitable for:
(1) Metallurgical industries
(2) Commercial complexes

(3) Rural areas




(4) Coal mines
A HaA FafaRad o 9 Bl & U Suge o 2
(1) YIIPHIG IR

(2) SHEIME GRIT
(3) et &
(4) HIOd Bl @WaH

1[Option ID=31077]
2[Option ID=31078]
3[Option ID=31079]
4[Option ID=31080]

Sl. No.31
QBID:1434766

For identical temperature range the sensible thermal energy storage density (J/kg) is more for:

(1) Water

(2) Iron

(3) Silica

(4) Carbon

JUPY AT & [7U Had] drd el Sgvl g9 (Sje/fban) Fafafad o 9 fead foy sifee gid e
(1) ofel

(2) A%

@) ffere

4) e

1[Option ID=31121]
2[Option ID=31122]
3[Option ID=31123]
4[Option ID=31124]

Sl. No.32
QBID:1434767

The output signal varies for a full of 360° of the input signal for type of amplifiers.

(1) Class AB

(2) Class B

(3) Class A

(4) Class D

frafafaa ¥ 3 iy voR & TR & g guia: 360° &1 fdw Sobd ffd dod gq d giaT &
(1) i AB

) i B

@) g A

4) TD

1[Option ID=31165]
2[Option ID=31166]
3[Option ID=31167]
4[Option ID=31168]

Sl. No.33
QBID:1434768

Which of the following devices does not measure pressure?
(1) Barometer
(2) McLeod Gauge

(3) Thermocouple

(4) Manometer

frafafaa gieaal @ 3 o179 T <8 &1 394 T8 @xdl 8 2
(1) SREeR (@geraHT)

() f@fagrs yamd

(3) d9degd g




4 faHteyeEiaea]

1[Option ID=31193]
2[Option ID=31194]
3[Option ID=31195]
4[Option ID=31196]

Sl. No.34
QBID:1434769

Wiedemann — Franz's law correlates:
(1) Thermal conductivity with temperature

(2) Electrical conduetivity with temperature
(3) Both thermal and electrical conductivity with temperature

(4) Either thermal or electrical conductivity with temperature
drst=-hot &1 fom Fafiied @ et &

(1) qIIAME & 1Y G =reear

(2) A9EH & Y dggd Tl

(3) TIAM & 1Y A9 Td 3gYd el gl
(4) 199 & 91 I1 I 19R a1 dggd arded]

1[Option ID=31197]
2[Option ID=31198]
3[Option ID=31199]
4[Option ID=31200]

Sl. No.35
QBID:14347610

Example of a metal which has face centred cubic structure is:
(1) Molybdenum
(2) Tungsten

(3) Chromium
(4) Nickel

AT o ¥ ®1F U1 39 Y1 $1 33160l § for@] e di-sd g4 UXa-l sidl o

(1) HricfesaH
(2) A
(3) iy
@) fod

1[Option ID=30905]
2[Option ID=30906]
3[Option ID=30907]
4[Option ID=30908]

Sl. No.36
QBID:14347611

Within the limit of proportionality, stress 0¢ — strain, hence stress = (a constant) x strain. This constant of proportionately is called

(1) Stiffness
(2) Young’s Modulus
(3) Rigidity
(4) Elasticity

TaOaEa &1 3 E, ufdad o« - e, afn ufdaw = e « el | saofasa 3 7 fHuda sgacd &

(1) gflﬁilﬂ
(2) G HTHSTA
(3) ®mANT
(4) THE
1[Option ID=30909]
2[Option ID=30910]

3[Option ID=30911]
4[Option ID=30912]




Sl. No.37
QBID:14347612

Ocean wave are formed mainly due to:
(1) Position of the Sun and Moon with respect to the earth

(2) Rotation of the earth on its axis
(3) Orbital motion of the earth around Sun
(4) Movement of the air on ocean surface

T ¥ gera: FefaEd & oRor S gd e
(1) gl & HUg U Ud deH B UG & HROT
(2) Gl & 37U 318f TR Ul & BRI

(3) U &P uika: gudl ol wafiy 1d

(4) HHgl §dg W ag &I Tfd

1[Option ID=30913]
2[Option ID=30914]
3[Option ID=30915]
4[Option ID=30916]

Sl. No.38
QBID:14347613

The peak inverse voltage of a single phase full wave (centre-tap) based rectifier 1s:

Where V|, —peak / maximum voltage
'V
2 2V,

(3)

(4)

UHd @R g0 adl (Hex-c9) R YR ivd (fdehHR) &1 9RY dohd dlecd Hafdad & 9 &1 91 6.
oigl V. —=RE/ Hfddy gl

<

1) Vi

2 2V

3) —

4) —

1[Option ID=30917]
2[Option ID=30918]
3[Option ID=30919]
4[Option ID=30920]

Sl. No.39
QBID:14347614

Force acting on an infinitesimal area is
(1) Stress

(2) Strain

(3) Shear Stress

(4) Shear strain

U] &7 TR BT P g1l g9 HFfarad § 9 $IH I 7
) yiqed

) faofa
(3) 3%y Yidad

(4) 3U%Y faoid




1[Option ID=30921]
2[Option ID=30922]
3[Option ID=30923]
4[Option ID=30924]

Sl. No.40
QBID:14347615

Producer gas is mainly a mixture of:
(1) Methane and hydrogen
(2) Hydrogen. carbon monoxide and nitrogen

(3) Methane and carbon monoxide
(4) Carbon monoxide and water

IAET (UsER) T4 Faffad o fayoe:
(1) HF AR BRSO

(2) TESIOH. BT HHIAEEES AR AgeioH
(3) T R Hrad TS

(4) Ba- HHIEHES 3R o d

1[Option ID=30925]
2[Option ID=30926]
3[Option ID=30927]
4[Option ID=30928]

Sl. No.41
QBID:14347616

RMS value of Asin(Wt) 1s:
Where W- angular frequency
t - time period

A
@
A
(2) Z
@ 2
4
@ A
2
A Sin(Wt) BT SRUHTY 7H &:
gl W- DU agid
Tdt- gag A
A
1) —=
2
A
2) —
2
A
(3) —
4
2
(4) A_
2

1[Option ID=30929]
2[Option ID=30930]
3[Option ID=30931]
4[Option ID=30932]
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Which of the following condition of steam 1s ideal to have higher/improved efficiency?
(1) Superheated steam

(2) Dry steam

(3) Wet steam




(4) All of the above

fafafad o T 91 B ST e S=/3Td Pr&H Ui &34 & g amesi &
() fqard arsg

(2) YtP di™

(3) 3% ary

(4) FuRied gyt

1[Option ID=30933]
2[Option ID=30934]
3[Option ID=30935]
4[Option ID=30936]
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In forward bias the diode current I; is represented by::

Where

V4 = Diode thermal equivalent voltage
K = Boltzmann constant

T = Absolute temperature

I, = Reverse saturation current

Vd
(1) _ 1 9kt
Iy=1¢
Vd
(2) _ q kt
Iy =1
qT
3) _1 ~kVd
Id =1.e
q

(4) |, = kT
I, =1

urad il . sTars urT 1, ® el grT vd fear o @

b

oigl

V, = SIS yHid TRdaT dieed
K = Slcgoidd Price
T = TRA 1Y (ATeFIYE CHIR)

I, = Wdild Sgad URT
v
1) _ T o kt
Iy =T
Vd
(2) — q Lkt
Iy =1s¢
qT
(3 | _1 .kVd
Iy =3
q

(@) | —1 pkT
Iy =1

1[Option ID=30937]
2[Option ID=30938]
3[Option ID=30939]
4[Option ID=30940]
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The phenomena that the conductor carries more current on the surface as compared to core is called as:
(1) Corona effect
(2) Skin effect




(3) Ferranto effect
(4) Symmetrical fault

g uRegeHI. fored R 31 gor 8 910 Jdg W 3 URI W o1l &, 98 Hean ¢ |
(1) PHRMHAIIUE

(2) P uYE

(3) Bl UHE

(4) T gy

1[Option ID=30941]
2[Option ID=30942]
3[Option ID=30943]
4[Option ID=30944]
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Moist air at 35°C and 10% relative Humidity (RH) is entering a psychometric device and leaving at 25°C and 100% RH. The name of the
device 1s:

(1) Humidifier

(2) Dehumidifier

(3) Sensible Heater

(4) Sensible Cooler

et g afc® IUHRUI T 35°C 3R 10% ATUET el (SIRTH) & WY 3MT% a1y Y% Sl § 3R 25°C 3R 100% RTI F 1Y
e © | 39 gida &1 918 Farss:

(1) BYHISTHIR

(2) SiRgHISIBIER

(3) IfHFd glex

() THIT PR

1[Option ID=30949]
2[Option ID=30950]
3[Option ID=30951]
4[Option ID=30952]
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Solar panel available in the market, have an average efficiency of:
(1) 20%

(2) 30%

(3) 40%

(4) 50%

ISR § Fueesy IR 0 P o ad srlemar g 8
(1) 20%

(2) 30%

(3) 40%

(4) 50%

1[Option ID=30953]

2[Option ID=30954]

3[Option ID=30955]
4[Option ID=30956]
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The device which operates on a nozzle that permits flow measurements with low pressure differential value is:

(1) Pilot tube
(2) Venturi tube
(3) Hygrometer

(4) Anemometer

e 4fad ol Ue Aiioiel W 1T gil § ol 9 &1 [a¥ee O & 61y YaTe W1 $3 $1 A HaH $dl 6. 98 &
(1) Y &ld




(3) Hied IIIEi
(4) gaagrEHdt

1[Option ID=30957]
2[Option ID=30958]
3[Option ID=30959]
4[Option ID=30960]
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The Nusselt Number is given by equation:
dT

1) —K4A—
dhx

(@) UAAT
hL

3 —
K

@) mcAT

Hee YEI1 HRldREd JHe0l gRT &M & ol o
da
dx
(2) U4AAT

(1) —K4

hL
3) —
K
(4) MCAT

1[Option ID=30961]
2[Option ID=30962]
3[Option ID=30963]
4[Option ID=30964]
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Co-generation can’t be used in:

(1) Combustion turbines
(2) Fuel cells
(3) Concentrated photovoltaic system

(4) Solar thermal system

U8 SAEA (@-o-e) Hafafad 3 vgad 781 gl 9adl &
(1) S8 RERT

() e Id

(3) HIf=d yeTealfece® o

(4) IR AT

1[Option ID=30965]
2[Option ID=30966]
3[Option ID=30967]
4[Option ID=30968]
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Moving Iron based instruments are used to measure:
(1) Only D.C. quantities

(2) Only A.C. quantities

(3) Both D.C. and A.C. quantities

(4) None of the above

g SYTRA =i SUSRUIN &1 WaRT HAfRad & A9 oq &1 &l &:
(1) Fad 147 gRe
(2) Fgd T4t gfemm
(3) S U9 U gim




) IREIFI DS T8

1[Option ID=30969]
2[Option ID=30970]
3[Option ID=30971]
4[Option ID=30972]
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If the heat transfer takes place between the body and fluid called as

(1) Conduction

(2) Convection

(3) Radiation

(4) Both conduction and convection

afe e td aRe verd & we 31 &1 3idwd gid1 § dl U8 Hean &
(1) dlef+d

(2) Tdgd

3) fgfepwor

(4) 970 U4 gdgd gl

1[Option ID=30973]

2[Option ID=30974]

3[Option ID=30975]
4[Option ID=30976]
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Which of the following do not convert directly to electrical energy?
(1) Fuel cell

(2) Wind generators

(3) Photovoltaic cell

(4) Thermocouples

fraffad § @ o w1 fagqd Sul @ yded: Ye< el glars 2
(1) Ty Id

(2) a9 3dladh

(3) yolediiced o

(a) Ao

1[Option ID=30977]
2[Option ID=30978]
3[Option ID=30979]
4[Option ID=30980]
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If the relative permeability of a material 1s 1. then its magnetic susceptibility is:
(1) Infinity

(2) One

(3) Zero

(4) 0.5

i, fodl o1 1 Artefl R 1 8. 1 SHS! g9 g THTeHdl o1 gl 2
(1) 3R

2 T@

3 YA

(4) 0.5

1[Option ID=30981]
2[Option ID=30982]
3[Option ID=30983]
4[Option ID=30984]
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The unit of specific heat capacity is:




(1) Joules per kilogram
(2) JToules
(3) Joules per kilogram kelvin

(4) Cubic meters
ATy T &Fdl 1 SPIS ©:
(1) Fd Uid fbeam

(2) vd

(3) 0 Uid fhard Siea
4 AR

1[Option ID=30985]
2[Option ID=30986]
3[Option ID=30987]
4[Option ID=30988]
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Hydrogen can only be produced by dissociation of water at high temperature.
Reason R : It 1s impossible to dissociate water at low temperature.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A

(3) Aistrue but R is false.
(4) Ais false but R is true.

=9 31 HYF 3T U §: TP SHUDYA (Assertion A) & ¥0 H [RGd § ol GIRT 3P BRI (Reason R) P U T:
HfTYT A : RSO Pad AT ard R o I f[aafid e o S 9@ar g |

PRUIR : A Bl BH a1 TR G BT EHT S |

SWRIGd FU & ATas 1, -1 3T T fasedi T 4 Haifte 3uged SR &1 9094 SIfT |

(1) AJRREHI AT IR AT G A= 8

(2) A3RR GHI G €, AP R, A P UE RS T &
(3) AYTE APAR TR

(4 ATACAPTRITE

1[Option ID=30993]
2[Option ID=30994]
3[Option ID=30995]
4[Option ID=30996]

Sl. No.56
QBID:14347631

The point form of gauss law is represented as::

@ (,=V-D
@ (,=V-E
@ ([, =VxD
@ [, =VxE
119 & 10 & [6g ¥0 &1 FHEfaied ¥ 9 S 91 Wdd a6 2
a (,=V-D
@ (,=V-E
@ {,=VxD
@ [ =VxE




1[Option ID=30997]
2[Option ID=30998]
3[Option ID=30999]
4[Option ID=31000]
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COP of reverse Carnot (RAC) cycle is directly dependent on which of the following?
(1) Evaporator temperature

(2) Condenser temperature

(3) Specific heat

(4) Refrigerant

Tig HIATE 9 ol el Fefifaa § 4 g ik axarg 2

(1) dI™h dMIHA

(2) IR AT

(3 fafey &=

4) yxfide

1[Option ID=31001]
2[Option ID=31002]
3[Option ID=31003]
4[Option ID=31004]
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The process involved in biogas production is:

(1) Fermentation
(2) Anaerobic digestion

(3) Pyrolysis

(4) Gasification

SN ITEA § Qe Ueha 1 BT o &
() fpua

(2) Sfargeitdl

(3) diyg-Hudc-

@) T

1[Option ID=31005]
2[Option ID=31006]
3[Option ID=31007]
4[Option ID=31008]
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Poisson’s ratio of a given material is a ratio of:

Stress

strain
Lateral strain

(2) . = ;
Longitudinal strain

Longitudinal strain

(3) _
Lateral strain

Longitudinal stress

Lateral stress
&t T Tt T oS- oAU FefeEd § I e saua s &
PIGER]

(1)

(2)




i fapid

srgad fagpfa
. sryeed fapfa

i fapfd
S CA2 IR ES
uiie ufdaa
1[Option ID=31009]
2[Option ID=31010]

3[Option ID=31011]
4[Option ID=31012]

(

(4)
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Specific heat at constant pressure of the ideal gas is
Equal to its specific heat at cons tan t pressure
G p= Cy

(1)

@ Cp<Cy

(3) Cp 22 B

4) CP =2C5;

e 19 & frod T W ok S Goiks
® Cp=Cy

) (.'p L

@ Cp>Cy

(4) Cp =2C5

1[Option ID=31013]
2[Option ID=31014]
3[Option ID=31015]
4[Option ID=31016]
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The National Mission on Renewable Energy Installations targets GW of installations by 2030.
(1) 245 GW
(2) 230GW
(3) 500 GW
(4) 700 GW

gt Tttt Sor firem @1 af 2030 96 TR B T8 Sesg &1 &:
(1) 245 Siigeeg
(2) 230 SilSeeg
(3) 500 SiiSeeg
(4) 700 Siigeeg

1[Option ID=31017]
2[Option ID=31018]
3[Option ID=31019]
4[Option ID=31020]
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In a psychrometric chart, which of the following is / are correct?
(1) It is used to determine the properties of refrigerant
(2) It cannot determine WBT and DBT




(3) It is seldom used for air condition design

(4) It provides plots for moist air condition

Trepafeem 9, d affEa d e s ma el ge 2

(1) 591w u=iiae of faRwansi & RuRo d giarg

(2) UE Segdie] Ud Sidid! &1 R 78] o= 9dbdl §

(3) U1 WA TEI-Ha] A0 a® (TR $oI¥M) B IRE-T o [0d1 ol §
4) TE 3% IAHHAP 8 @E T IRl ¢

1[Option ID=31021]
2[Option ID=31022]
3[Option ID=31023]
4[Option ID=31024]
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The electromagnetic spectrum of radiation covers visible spectrum ranging from :

(1) 102t 10 m
(2 1009 107% m
3) 04um to 0.7um

@) 0.2um to 0.4 m

fafeRul 1 faqgagias 1 WagH, X0 Wagh o Fafafad I &1 sis1ied Hdl 6
@ 102810 m

@ 10710710 m

(3) 0.4um ¥ 0.7 pim

@ 02um Bl 0.4 um

1[Option ID=31025]
2[Option ID=31026]
3[Option ID=31027]
4[Option ID=31028]
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Enthalpy is

(1) The sum of Internal Energy and the product of pressure and volume
(2) The product of pressure and volume

(3) The sum of pressure and volume

(4) The sum of force and Internal Energy

gof g1 (e &

(1) 3fidiNe FHl Ud eTe TUT Hha- & UG ST IR gl 6 |
(2) &€ UG 31T BT IUHDd

(3) 3§ TG G BT A

(4) g9 TG AaR® ol &1 g

1[Option ID=31029]
2[Option ID=31030]
3[Option ID=31031]
4[Option ID=31032]
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The energy extracted from the heat accumulated on the surface of water:
(1) Tidel energy

(2) Geothermal energy

(3) Ocean thermal energy

(4) Wave energy

Ul &1 Tdg W 9Hd Sl 9 309 g ael 391 a1 Heald! o




() SR He
@ Y e
(3) TgArdy FHall
@) TGl

1[Option ID=31037]
2[Option ID=31038]
3[Option ID=31039]
4[Option ID=31040]
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Ohm’s law states that at constant temperature the potential difference across the end of the conductor is proportional to
current carried by it.

Reason R : Ohm’s law can be applied to networks containing diodes.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R iz not the correct explanation of A

(3) Aistrue but R is false.
(4) Ais false but R is true.

I 31 Hu [T U §: TP SHUTYT (Assertion A) & =0 H [R@d § o GIRT 39D BRI (Reason R) P Y T:
SHTUFYT A : 310 & Fa0 F o 9R, RR a9 R, 9106 & BRI R fAyaia 39 98 Y61 [degd YR1 & Surdi gid 8 |
SRR : 1 o1 Fam, sEirs sidfdy ufvay § off e diar?

SWRIEd PUA P Al T, A fEU U fdw el T 3 98 Sugad 3R &1 994 Bl |
(1) ARRSHIIEI & AR R. A DI Tol AT §

(2) ARRIH TSI S, AFTR AT TS e T &

() ATEI e APIR TSI LT ®

4) ATEITEI 8 APTRTT &

1[Option ID=31041]
2[Option ID=31042]
3[Option ID=31043]
4[Option ID=31044]

Sl. No.67
QBID:14347642

Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Over the past few decades, there has been drastic global warming.

Reason R : The push for economic development has increased to dangerous proportions, the emission of green house gases into the
atmosphere.

In the light of the above statements. choose the most appropriate answer from the options given below :

(1) Both A and R are correct and R is the correct explanation of A

(2) Both A and R are correct but R is not the correct explanation of A

(3) Ais correct but R is not correct.
(4) A isnot correct but R is correct.

4 &1 HY [SU T §: TP AUDYT (Assertion A) P =9 H [T € @ IR IUP DRI (Reason R) P Y T:
HUFYT A : o $o I B, s A d v afS ge © |

PROIR : AU [ H gl & 710, ardaRor 3 99 8139 191 & Seid ol Gaiie Al ¥ aig s o |
SIS PYH P el 1, 1 U MU faw el 8 9 968 Sugdd 3R &1 989 DI |




(1) A SRR T8I € IR R A D! Gel = 8

(2) A JRRGH el 3. AT R AT T oo T
() ATEIZAfPIR TS TR

(4) ATEI T e AP R TG ®

1[Option ID=31045]
2[Option ID=31046]
3[Option ID=31047]
4[Option ID=31048]
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.

Assertion A : Methane has more global warming potential than carbon dioxide but the global effort 1s directed towards reduction of
carbon dioxide mostly.

Reason R : Atmosphere has higher percentage of carbon dioxide than methane.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) Ais correct but R is not correct.
(4) A s not correct but R is correct.

I 31 Hu [T U §: TP SHUTYT (Assertion A) & =0 H [R@d § o GIRT 39D BRI (Reason R) P Y T:

HTUFYT A : T H PIETSISHTISS B AU&T S dfyd arg= &t g gl g oy sifeiwa: afiye wars
HIETSIZHFSS b YAIBRUT Bl G 130 Hd B |

PRUIR : AHSA § HIYA ST SUe HeasTs AHIES B Hia=id JET Sid Ol Sl ¢ |

SWRIGd HYH & HTai® 1, 19 13U 0 fadedi & 9 wallte 3uged SR & 909 S |
(1) AJRREF TG ARR A IS AR &

@ AJRR I AT, Wb R, A 3 W) o T R

() ATT L AFIR STE

(4) AT T ABFTIRITT

1[Option ID=31049]
2[Option ID=31050]
3[Option ID=31051]
4[Option ID=31052]
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Global warming increases the temperature of the atmospheric layers.
Reason R : The layer of atmosphere affected by global warming is suggested to be the troposphere.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are correct and R is the correct explanation of A
(2) Both A and R are correct but R is not the correct explanation of A

(3) A s correct but R is not correct.
(4) A is not correct but R is correct.

-9 31 HYF 3T U §: TP SHUDYH (Assertion A) P 0 H [aRd § o GIRT 3UP BRI (Reason R) P U T:

HFUFY A : IS AU ¥ TgHUST $1 IRal ST ATIHH & oal g |
BRUIR : IS &1 a8 TRl off a4 19 § wHTfad gl § &iHsd dgardi @ |
JIRIGd HYH & AP H, Aid (G0 U famedi § 1 Hel 3t &1 994 DI |




(1) ARREH GUE AR A Gl AR &

(2) A3RREH FA T, APTR, AP TET AT T &
() ATUE AR TS

M) AT UPTRIAT

1[Option ID=31053]

2[Option ID=31054]

3[Option ID=31055]
4[Option ID=31056]
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Desirable properties of refrigerants:

A, Non Toxic

B. Non-flammable

C. Low Condensing pressure
D. Low boiling point

E. All of the above

Choose the correct answer from the options given below :
(1) Aand B only

(2) E only

(3) AandC only

(4) A.B.Conly

i @t are=ig o ¢ |

A TR fadfiea
B. TR s@@-9id

C. & o 1
D. 3[c HYID fag
E. SURIa JT

e feu 7Y fasedl & ¥ el IR &1 94 Bifoig:
(1) Had A. B

(2) HgdE

(3) FAAA. C

(4) BAd A, B.C

1[Option ID=31057]
2[Option ID=31058]
3[Option ID=31059]
4[Option ID=31060]
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : Four stroke engine are more efficient than two stroke engine as far as fuel consumption is concerned.
Reason R : Four stroke engines have lower wastage of petrol in their operation.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are true and R 1s the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A

(3) Ais true but R is false.
(4) Ais false but R is true.




4 S Py AU T §: U HUHUT (Assertion A) & =9 H 1RG0 3 o SURT 39D PRI (Reason R) P o7 &:
SIfUEYT A : OIET d& SU- B! WO BT Y§Y 8, IR TP 501, ol LI Soi Pi U e gurdi i e |
PRUIR : IR LIS S0 & Tara- 4, §id & fRIvgars |

IR HUA & ATl T, A 13U 70 faedi § I T IR &1 994 BIfoTU |

(1) ARREH IUE IRR AT Tl A= &

() ARRIF G S, APAR, A DI HE TRAT T8l &

() ATAEAPIR 3T T
(4) ATIEABPIRITT

1[Option ID=31061]
2[Option ID=31062]
3[Option ID=31063]
4[Option ID=31064]
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Given below are two statements: One is labelled as Assertion A and the other is labelled as Reason R.
Assertion A : The gross and net calorific value of a fuel will be same under certain condition.
Reason R : It will be same 1f its ash content 1s zero.

In the light of the above statements. choose the most appropriate answer from the options given below :
(1) Both A and R are true and R is the correct explanation of A
(2) Both A and R are true but R is not the correct explanation of A

(3) Aistrue but R is false.
(4) Ais false but R is true.

R ey Ry e:
HYF 1 : FiYa R H. 1 SoF @1 98 (Fa) 3R Fad () IwHIg idd &1 37+ I9H 8dl § |
BYT 11 : IS TST I B T LI € ol 98 G 8T |

JRIGd BYH & AdIP 4, Aid [T U fawedi § 9 9gl 3R &1 904 DI
(1) PYT13R 1A TeI R’

2) P 1R 1 GHI Tad B

(@) HYTIE . A FYF 11 Tad &

4) HYF 1716 &, Afeh HUT 11 TG ©

1[Option ID=31065]
2[Option ID=31066]
3[Option ID=31067]
4[Option ID=31068]
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The top to bottom sequence of group III A materials as seen in the periodic table is:

A, Aluminium
B. Gallium

C. Boron

D. Titanium
E. Indium

Choose the correct answer from the options given below :
1) C.B.A.E.D
2) AD.C.E.B
3) C.A.B.E.D
(4) DDA.B.C.E




HTad Ruft 8 yaiid 95z 11 U & dai ®1 3 I 19 & o ea I orafid S

A Ty

B. TdiigH

C.  RM

D. €5 HUH

E. Sfeqd
4 fau ¢ faeedl 0 O 9gl SR &1 994 S
1) C.B.A.E.D
2) AD.C.E.B

3) C.A.B.E.D
4) D.A.B.C.E

1[Option ID=31069]
2[Option ID=31070]
3[Option ID=31071]
4[Option ID=31072]
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The correct order of power flow as in case of power generation and distribution is:

A. Step-up (voltage)

B. Transmission section
C. Step-down (voltage)
D. Distribution section
E. Generation section

Choose the correct answer from the options given below :
) EEAB.C.D
2) CCA.B.D.E
3) AAD.B.E.C
4) AAC.E.D.B

ol Se g fadRur B 521 F FHoil-HaTg &1 I 3h
A. 3=l @lec)

B. YARUT ST

C. o=t (dlec)

D. faaRur sy

E. SI& SHI
= feu T faw el § & 9l SR &1 95 SR
(1) E.A.B.C.D
(2) C.A.B.D.E

3) A.D.B.E.C
4) A.CE.D.B

1[Option ID=31073]
2[Option ID=31074]
3[Option ID=31075]
4[Option ID=31076]
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Sequence in order of higher to lower wind energy installations in Indian states for the year 2021:

A. Maharashtra
B. Gujarat

C. Tamil Nadu
D. Rajasthan
E. Karnataka

Choose the correct answer from the options given below :
1) C.AE.D.B
2 C.B.A.E.D
3) CCA.B.D.E
4) A.C.B.E.D

¥ 2021 H, HRA Ioul B 4fiE T HH 9a- Soll TRUTTH S o1 407 &1 91 HH Fa150 |
A HeRIY
B. T[oRIq
C. difeHrg

D. eI
E. BAlc®

14 feu e faoedl & 9§ Tl TR &1 957 B
1) C.A.E.D.B
2) C.B.A.E.D
3) CCA.B.D.E
4) A.C.B.E.D
1[Option ID=31081]
2[Option ID=31082]

3[Option ID=31083]
4[Option ID=31084]

Sl. No.76
QBID:14347651

Energy is being used by human race since ages. Arrange the energy resources in chronological order.

A. Bio energy
B. Solar energy
C. Gas
D. Coal
E. 01l
Choose the correct answer from the options given below :
1) A.C.D.E.B
(2 C.D.B.E. A
3) B.A.D.E.C
4) C.B.D.A.E

HIAR Y O 3ol BT IUAN B IGT ¢ | = [0 T ISl Hidl D1 3 Pt HIH HH & SHI9R ford

A. vifge 3

B. 4R 3oif

C. T

D. BTl

E.dq
=it fau T famedt & & TET SR 31 99 S
1) A.C.D.E.B

2) C.D.B.E. A
3) B.A.D.E.C




(4) C.B.D.AE

1[Option ID=31085]
2[Option ID=31086]
3[Option ID=31087]
4[Option ID=31088]

Sl. No.77
QBID:14347652

Specify the sequence of ductile material from higher to lower:

A. Copper

B. Aluminium
C. Gold

D. Vanadium
E. Silver

Choose the correct answer from the options given below :
1) A.C.B.E.D
2) EEB.A.D.C
3) DDAE.C.B
) C.E.D.B.A

Tg gerdf & 3iftfs I &1 w8 | Sfcarad &1 |

A BIG

B. 3qfHfam
C. i

D. gAfeawm
E. Tlat

14 feu e fasedl & @ el IR &1 997 B
1) A.C.B.E.D
2 EEB.A.D.C
3) DALE.C.B
(4) C.E.D.B.A
1[Option ID=31089]
2[Option ID=31090]

3[Option ID=31091]
4[Option ID=31092]

Sl. No.78
QBID:14347653

Match List I with List IT

LISTI LISTII
A |Battery 1. |Electrical to light
B. [LED g, |Metmatic
mechanical
C. |Stream engine III. |Chemical to electrical
D. |Piezoelctric material IV. Mechgmcai n
electrical

Choose the correct answer from the options given below:
(1) A-IL B-II CIL. D-IV
(2) A-IL B-II. C-1V. D-III
(3) A-IL B-I. C-III. D-IV
(4) A-IIL B-1. C-II. D-IV




el 1% Ty Gl 11 &7 HeE Sifog
, T I Tl 11

A |sed I |fagga O wer
B. |LED I, |ard g gite
c. |[aa3fm . |Temte © faggd
D. |are faggd uard Iv. |aif® 9 fagad

i fu U fawmedl § ¥ 9ol 30 &1 904 BIfuld:
(1) A-I B-IIL C-IL. D-IV

(2) A-L B-IL C-IV, D-III

(3) A-IL B-I, C-IIL. D-IV

(4) A-IIL B-I. C-II. D-TIV

1[Option ID=31093]

2[Option ID=31094]

3[Option ID=31095]
4[Option ID=31096]

Sl. No.79
QBID:14347654

In the direction of flow of water for installations in a hydro-power plant is:

A. Nozzle

B. Penstock
C. Reservoir
D. Turbine
E. Surge tank

Choose the correct answer from the options given below :
) DDA.C.E.B
2 C.B.A.D.E
3) B.C.D.AE
4) A.D.B.E.C

U o Qidd 4= §, TRYTO & oY, Uil & Harg @ fo=n o

A=Y
B. U
C. P8 (=)
D. TRagA
R
e feu U fawedl o § Hg1 SR &1 994 Bifeig:

) DDA.C.E.B
(2 C.B.A.D.E
3) B.C.D.A.E
4) A.D.B.E.C
1[Option ID=31097]
2[Option ID=31098]

3[Option ID=31099]
4[Option ID=31100]

Sl. No.80
QBID:14347655




Given below are two statements:
Statement I : Slip is a concept applied to direct current motors.
Statement II : The D.C. motors can be brushless too.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement IT are false.
(3) Statement [ is true but Statement II is false,
(4) Statement I is false but Statement IT is true.

RasyTfiumue:
®YF 1 : U0 (&) 3 Geheq1 37 yRTHiex & ugad eIl T |
FYT I : 3 YR T =Y Mea N1 9Hd ¢ |

IRIGd FYF & ATEP 4, 7 R U fawedi § I Ul SR &1 994 Sifo:
1) FYFIARISH TT

(2 TR 1 EH 3T B

(3) DY A ¢, A HY 11 T §

(9) T 3R, AT FYT I TA

1[Option ID=31101]
2[Option ID=31102]
3[Option ID=31103]
4[Option ID=31104]

Sl. No.81
QBID:14347656

Given below are two statements:
Statement I : Avalanche breakdown occurs in diode junction with low doping due to impaet ionization of matrix atoms.
Statement IT : Avalanche breakdown oceurs in diode junction with low doping due to field ionization of matrix atoms.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I is true but Statement II is false.
(4) Statement I is false but Statement II 1s true.

S EEERICa TRl S
HYF 1 : AT IRASH & JUIET STE-IHRU & SR -F B9 & 1Y SHSHARH H Uaaiel sidhsied 9ied gial g |
SYF 11 : TCT A & &3 ATHRUN & SR 75 SI9- & 9IY S8 HavH J Taaisl sdbsia gied gidl g |

JRIGd BYH & AdIP 4, Aid [T U fawedi § 9 9gl 3R &1 904 DI
1) FYFIARISAI TT B

2) Y1 3R 11 I ST

(3) HYF 1T ©. Al HYT 11 3T ©

(4) Y1 3T, AP YT I TT

1[Option ID=31105]
2[Option ID=31106]
3[Option ID=31107]
4[Option ID=31108]

Sl. No.82
QBID:14347657




Given below are two statements:
Statement I : The heat addition at constant volume increases internal energy.

Statement IT : The total pressure of a mixture of gases occupying a given volume is equal to the sum of the pressures of each gas.
considered separately at constant temperature.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I is true but Statement II is false.
(4) Statement I is false but Statement IT is true.

2 < Py Ry U &
YT : FU0 ST R S-S HidRe® el § gl PRl |

YT 11 : [0 T 316 B URAaTel 1141 & Y01 &1 P 319 YD 119 & 319 & I1T & a6 eidl &, [ord gyahd: Fad argaE i)
faafea fearoman g |

SWRIGd DY D 3Helld H, - U MY [dwedi T H 98l IR D1 99 ST

(1) FYFI AR 1S TIA &

) FYF13R I SH ST S

(3) HUYF 1A 8. At PUA 11 A B

4) P E, AP P TA ©

1[Option ID=31109]
2[Option ID=31110]
3[Option ID=31111]
4[Option ID=31112]

Sl. No.83
QBID:14347658

Given below are two statements:
Statement I : Combustion is an exothermic reaction of carbon and hydrogen with oxygen to produce carbon monoxide and water vapour.

Statement IT : The NO, emissions during combustion depend mainly on flame temperature.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are correct.

(2) Both Statement I and Statement II are incorrect.
(3) Statement [ is correct but Statement II is incorrect.
(4) Statement I is incorrect but Statement IT 1s correct.

FR sy Ry E:
DY 1 : G5 Pla- AHISTISS U6 od a9 ITF B o AR & 1Y S1a- Ud g5 sia- @1 U ssat sfifeparg |
Y 11 : 551 & I9I NOx BT oo Tqd] sardl (@) & drad= R (R $Rar g |

SWRIE DU B D H, Al f4U U [deedl § 3 99 Iuged 3R &1 99 BIou:
(1) HYF1 AR 11 SHI &1 2

() FHYF1 3R 11 HI Tad g

(@) FYITE E. AFT T I AT §

4) FYF 1776 &, i FUT 1 TET ©

1[Option ID=31113]
2[Option ID=31114]
3[Option ID=31115]
4[Option ID=31116]

Sl. No.84
QBID:14347659




Given below are two statements:
Statement I : Hall voltage in a semiconductor is directly proportional to magnetic flux applied.
Statement IT : Hall voltage in a semiconductor is directly proportional to electric field.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement IT are false.
(3) Statement [ is true but Statement II is false,
(4) Statement I is false but Statement IT is true.

RasyTfiumue:
DY : [P iea1a® & gardyd (@lecs), T 38 Jo 14 SHfiarg & JHurd! gial g
FYT 11 : TP 3ieiaras H, giardyd @lees)) [aggd &= & I9umd g1 3

IRIGd FYF & ATEP 4, 7 R U fawedi § I Ul SR &1 994 Sifo:
1) FYFIARISH TT

(2 TR 1 EH 3T B

(3) DY A ¢. A HY 11 T §

(9) T 3R, AF T FYT I T

1[Option ID=31117]
2[Option ID=31118]
3[Option ID=31119]
4[Option ID=31120]

Sl. No.85
QBID:14347660

Given below are two statements:
Statement I : The presence of iron in the metal makes the material brittle.
Statement IT : Hardness is higher in case of brittle material compared to ductile materials.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement II are false.
(3) Statement I is true but Statement II is false.
(4) Statement I is false but Statement II 1s true.

2 G prE Ry &
HYF1 - [ i & 718 &1 Sufufa 39 uerd &l 1R a1l §
YA 11 : R UGl B Do Ral, 3 Uardl B HUa ¥ gidl o

JRIGd BYH & AdIP 4, Aid [T U fawedi § 9 9gl 3R &1 904 DI
1) FYFIARISAI TT B

2) Y1 3R 11 I ST

(3) HYF 1T ©. Al BT 11 3T ©

(4) DY A, AP YT 1 TT &

1[Option ID=31125]
2[Option ID=31126]
3[Option ID=31127]
4[Option ID=31128]

Sl. No.86
QBID:14347661




Given below are two statements:
Statement I : Based on the rate of heat transfer under identical temperature condition the radiative heat transfer will be the highest.
Statement IT : The radiative heat transfer has higher order dependence on temperature.

In the light of the above statements. choose the most appropriate answer from the options given below:

(1) Both Statement I and Statement II are true.
(2) Both Statement I and Statement IT are false.
(3) Statement [ is true but Statement II is false,
(4) Statement I is false but Statement IT is true.

FR S pyRRumuE:
PYT 1 : UP & oid argqT= &2 (FRuf) iaria ST RIFTaRor S a3 IR Ui fafdsruft 37 wHiaRor aaifees g |
HYF 11 : [SfHRult T WFTR § JUHH R 3= Sife St nidar urdt St g |

SWRIE PUA B D H, A U T [devedl § 3 98 Iuge 3R &1 99 BIou:
(1) HUYF1 AR 11 SH T 7

2) Y1 3R 11 GHI Tad 8

() PYITE E. AFT T I AT §

4) FYF 1716 &, i HUT 11 HET ©

1[Option ID=31129]
2[Option ID=31130]
3[Option ID=31131]
4[Option ID=31132]

Sl. No.87
QBID:14347662

The derivatives of solar energy mclude:

A Wind energy

B. Wave energy

C. Bio energy

D. Tidal energy

E. Geothermal energy

Choose the correct answer from the options given below :
(1) A, BandC only

(2) A.B.CandD only

(3) A, CandD only

(4) C.D and E only

Profafed & 4 5 3 9R el & ogaRi & 2

A, T Soll
B. T &l
C. ofa Sl
D. SR Hull
E. Y-ardtg St
=i fau U fdeedi § 8 e Sugdd SR &1 90 HIfeIt:
(1) FAAA, B AR C
(2) HAAA, B, C3IRD
(3) BAAA, C 3R D
(4) PTAC. D ARE




1[Option ID=31133]
2[Option ID=31134]
3[Option ID=31135]
4[Option ID=31136]

Sl. No.88
QBID:14347663

Hydrogen can be produced from:

A. Gasification of coal

B. Steam reforming of natural gas
C. Electrolysis of water

D. Gasification of bio-mass

E. Partial reduction of hydrocarbon

Choose the correct answer from the options given below :
(1) A.BandC only

(2) B. CandE only

(3) C.D and E only

(4) A.B.C and D only

eIESior Fafafad & § e Sod &1 o ga@d § 2

A, BIIH B GBI
B. Wi fde 11 &1 Warsdl g=:-941a
C. oid &1 faggd siqgcH
D. Wadgld &1 THiHR
E. glSoiaTe- @l Hf¥d g=m
12 feu U faeedl & ¥ 9ad Suge SR &1 98 DI
(1) FAAA. B AR C
(2) HaAB. C IRE
(3) PadC, D IAHRE
(4) HIA A, B, C 3R D

1[Option ID=31137]
2[Option ID=31138]
3[Option ID=31139]
4[Option ID=31140]

Sl. No.89
QBID:14347664

Which of the following statement 1s true?

A Heat is the degree of hotness and coldness of a body
B. The unit of specific latent heat of fusion is JKgK
C. A cooker grill is a practical application of radiation

D. Heat energy flows to or from a substance while the temperature remains constant
E. Temperature is the degree of hotness and coldness of a body.

Choose the correct answer from the options given below :
(1) A.Bonly

(2) C.D.E only

3) C.E only

(4) Aonly




BN R R e R B R R,

A. 3w [l fis (e @ Swrar siuar Liaear @1 9= 8

B. Ja0H & faf¥ry 7 3w 3t 5o, Sa/fean. &

C. PR U [afe=r &1 Ue 1agTie AUl

D. 9§ QYA H9d I8 @ S SHoil [0 gerd § ik 3t sk variga g g |
E. a0 [l s &1 3wmar ik Siaaar &1 JE18 |

12 feu U faeedl & ¥ gad Suge SR &1 98 DIt
(1) HAdA. B

(2) BIAC.D.E

(3) Pad C.E

(4) PHad A

1[Option ID=31141]
2[Option ID=31142]
3[Option ID=31143]
4[Option ID=31144]

Sl. No.90
QBID:14347665

Following are the bottom up approaches of synthesis of nano-materials.

A. Sol-gel method

B. Hydrothermal synthesis
C. Colloidal precipitation
D. Electro deposition

E. Ball-milling

Choose the correct answer from the options given below :
(1) A.BandC only

(2) B.Cand D only

(3) A. CandD only

(4) A.B.C and D only

1 veelf & e §, Faf@d # @ oY gu v (d6i) § |

A. ra-oie fafer
B. 0T S0y
C. Bidlgal faaqu
D. faggd Fagu
E. T[ferep! Uuor
i f4u T fawedl § ¥ 9l 3R &1 904 Il
(1) FadA. B HRC
(2 $adaB. C 3IRD
(3) Fad A, C HRD
(4) HAAA. B, C 3R D

1[Option ID=31145]
2[Option ID=31146]
3[Option ID=31147]
4[Option ID=31148]

Sl. No.91
QBID:14347666




The devices which can be used to store energy are:

A. Capacitor
B. Thermistor
C. Inductor
D. Resistor

E. Oscillator

Choose the correct answer from the options given below :
(1) AandB only

(2) B and C only

(3) Aand C only

(4) A.DandE only

fafafad 3 3§ foa aferl &t St S9a & e vai e o 9o e
A, HYIRA
B. dToHTdy2EHeR
C. U=
D. UfcRIy®
E. glferA
4 feu e faseal & © 9ad 3ugad SR o1 997 ST

(1) FHad A RB
(2 HaaB AR C
() Fad A AR C
(4) HIAA. D IRE

1[Option ID=31149]
2[Option ID=31150]
3[Option ID=31151]
4[Option ID=31152]

Sl. No.92
QBID:14347667

Hydro electric power generated by waterwheel unit in a hydro electric power plant depends on:

A. Density of water
B. Height the water falls
C. Volumetric flow of the water
D. Acceleration due to gravity
E. Viscosity of water
Choose the correct answer from the options given below :
(1) A.B.C only
(2) B.C.D only
(3) C.D.E only
(4) A.B.C.D only

Saidegd Sl U H gaadd] gRI 303 saidegd Soll Hafanad oR FHHR Sl &

A STA-Yd

B. W@UUd &1 AT
C. oI I FIa- a1
D. %@ & BRU @Rl
E. OTd &1 241l

i fau U faeedl O O 981 TR &1 997 B




(1) HAAA. B.C
(2) $GAB.C.D
(3) Pad C.D.E
(4) HAA A, B.C.D

1[Option ID=31153]
2[Option ID=31154]
3[Option ID=31155]
4[Option ID=31156]

Sl. No.93
QBID:14347668

Ferrous material are:

A, Steel

B. Cast Iron

C. Aluminium
D. Wrought Iron
E. Magnesium

Choose the cotrect answer from the options given below :
(1) A.B.Donly

(2) C.D only

3) C.E only

(4) Conly

<ire gl FafRaa 3 em 4 &

A 59
B. gqal dlgl
C. TgAtTy
D. fuedl digl
E. BifilRmm
1= feu e faeedl & ¥ 9ad Sy SR &1 98 Pt
(1) BIAA,B.D
(2) $AAC. D
(3) PadC.E
(4) HadC

1[Option ID=31157]
2[Option ID=31158]
3[Option ID=31159]
4[Option ID=31160]

Sl. No.94
QBID:14347669




Match List I with List IT

LISTI LISTII
(Time-varying Signal) (Laplace transform)
W
At L
A 2 + H"Z
1
B. [e™™ i |
)
§
c. |sin(we) m|5—=
S +wW
1
D. |cos(wr) \
s+a

Choose the correct answer from
(1) A-IL B-IV. C-III. D-I
(2) A-IL B-IV. C-1. D-III
(3) A-IV. B-II. C-III. DI
(4) A-IIL B-II. C-1. D-IV

the options given below:

el 131 el 11 ¥ T sife
I + H-
(e qﬁﬂ Hd) (ATeATH FIEX)
W
A t L
52 +w?
1
B. [¢* I |—
2
g S
c. |sin(wr) I |5
ST+
1
D. |cos(wr) V.

§+a
frafefad famed & § wet SR &1 T Hifve
(1) A-II. B-IV. CIII. D-I
(2) A-IL B-IV. C-1. D-III
(3) A-IV. B-II. CIII. DI
(4) A-IIL B-II. C-I. D-IV

1[Option ID=31161]

2[Option ID=31162]

3[Option ID=31163]

4[Option ID=31164]

Sl. No.95

QBID:14347670

Match List I with List II
LISTI LISTIT

A |Sodium Bicarbonate L |NaCO;
B. |Sodwum Carbonate II. |NaHCO;
C. |Nitric acid II1. | NaCl
D. |Sedium chloride Tv. |HNO,

Choose the correct answer from
(1) A-I. B-IV. C-IIIL. D-II
(2) A-II. B-1. C-IV. D-III

the options given below:




3) AL B-II. C-1.D-IV
(4) A-IV. B-II. CII. D-1

el 131 el 11 ¥ e sifee
T 1 e 11
A |GfsgaeE@EHe | L [NaCO;
B. |gifzgg @Eiae I |NaHCO,
C. [|Efds uis III. |NaCl
D. |Wifeqd wiRigsS IV. [HNO;

Fafafad fdeddl # 9 9l Sv &l 9 Sifey -
(1) A-I B-IV. C-IIL D-II

(2) A-IL B-1. C-IV, D-III

(3) A-II B-II. C-1. DIV

(4) A-IV, B-III. C-II. D-1

1[Option ID=31169]

2[Option ID=31170]

3[Option ID=31171]
4[Option ID=31172]

Sl. No.96
QBID:14347671

Match List I with List IT

LIST1I LIST IT
A |Hvdrogen I |Fermentation
B. |Ethanol II. |Water electrolysis
C. |Biogas III. |Anaerobic digestion
D.  |Producer gas IV. |Gastficanon

Choose the correct answer from the options given below:
(1) A-IL B-I C-III. D-IV
(2) A-IL B-II C-IIL. D-IV
(3) A-IL B-III, C-I. D-IV
(4) A-IV, B-II C-III. D1

el 191 el 11 F A DIty

T 1 et 11
A |[erEgieH L |fve
B. |wHlE 1L |ofd faggd-afuged
c |¥mrg I |3fargdid ure=
D. TSR ™ W [
=t fou U famedi & 9 98l 3R &1 994 DI

(1) A-IL B-I C-III. D-IV
(2) A-IL B-II C-IIL. D-IV
(3) A-IL B-III, C-I. D-IV
(4) A-IV, B-II C-III. D1
1[Option ID=31173]
2[Option ID=31174]

3[Option ID=31175]
4[Option ID=31176]

Sl. No.97
QBID:14347672




Match List I with List IT

(Enefgigims) (Installed gs::g) Y Tnikia
(%)
A |Fossil fuel I |14%
B.  |Hydro energy I |10%
C. |Wind Energy I [58%
D. |Solar Energy IV. |11.6%

Choose the correct answer from the options given below:
(1) A-IIL B-III, C-1.D-IV
(2) A-II, B-IV. C-II, D-I
(3) A-IV. B-1. C-III. D-II
(4) A-I B-II, C-IV. D-III

el 1 o1 el 11§ e Sifeu

T 1 eI

(et ) (T B SR & (%))
A S el L |14%
B. |S@@ el m [10%
C. |uga St I |58%
D. |[drR 3wl V. |11.6%
TEfcRad faeedl § I 981 TR &1 90 DIt :

(1) A-IL B-IL C-1. D-IV
(2) A-IIL B-IV. C-II. D-I
(3) A-IV, B-1. C-III. D-II
(4) A-I B-II. C-IV, D-III
1[Option ID=31177]
2[Option ID=31178]

3[Option ID=31179]
4[Option ID=31180]

Sl. No.98
QBID:14347673

Match List I with List IT

LISTI LIST IT
A |Power I |Energy meter
B. |Energy II. |Anemometer
C. |Solar Radiation III. | Wattmeter
D. |Wind speed IV. |Pyranometer

Choose the correct answer from the options given below:
(1) A-III B-I. C-IV. D-1I
(2) A-I B-IIL. CII. D-IV
(3) A-IL. B-I. C-III. D-IV
(4) A-IV, B-1. C-II, D-III

el 1 o1 el 11 1§ e Sifen

T el
A |=fed @Ey L |[SeEm
B. 3wl (@il . |gggrEAmd
c. |drfafERo I |dredieR
D. |ugdan AW IERSTE IRy

fafarad fdeedl T 9 T8l SR &1 994 B -




(1) A-IIL B-I. C-IV. D-II
(2) A-I. B-III. C-II. D-IV
(3) A-IL B-I. C-III. D-IV
(4) A-IV. B-1. C-II. D-III
1[Option ID=31181]
2[Option ID=31182]

3[Option ID=31183]
4[Option ID=31184]

Sl. No.99
QBID:14347674

Match List I with List IT

s (Signiﬁca:ﬁl ?attfllr affecting
(List of Potentials) themd)

Volatile organic

A |Global warming I |compound (VOC)
based

B. |Acid Rain I1. |Phosphate based

C. |Smog . |CO; based

D. EquDphiC&IiOﬂ n v -\-"OJ_ and SO\ bazed

water :

Choose the correct answer from the options given below:
(1) A-IIL B-IV. C-1. D-II
(2) A-IIL B-IV. C-II. D-I
(3) A-I. B-IV. C-II. D-III
(4) A-IL B-IV, C-I, D-III
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(1) A-IIL B-IV. C-1. D-II
(2) AL B-IV. C-II. D1
(3) A-I. B-IV. C-II. D-III
(4) A-IL. B-IV. C-1. D-III
1[Option ID=31185]
2[Option ID=31186]

3[Option ID=31187]
4[Option ID=31188]
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Match List I with List IT

LISTI LIST IT
A |Cooling tower I |Feed water circuit
B. |Economiser IT. A

steam to water

Handles water from

C. |Superheater 101
condenser
Raises the

D. |Condenser IV. |temperature of steam
from boiler

Choose the correct answer from the options given below:
(1) A-IIIL B-1. CIL. D-IV
(2) A-IIL B-I. C-IV, D-II
(3) A-IL. B-IV., C-I. D-III
(4) A-IV, B-II C-III. D1
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(1) A B-I. C-II. D-IV
(2) A B-I. C-IV. D-II
(3) A-IL B-IV. C-1. D-III
(4) A-TV. B-II. C-III. D-I
1[Option ID=31189]
2[Option ID=31190]

3[Option ID=31191]
4[Option ID=31192]




